
   𝑥 − 2 ≤ 0
        +2    + 2
           𝑥 ≤ 2

Solve

2

Number Line

   (𝑥 − 4)(𝑥 − 1) > 0

𝑥 − 4 = 0
        𝑥 = 4

𝑥 − 1 = 0
        𝑥 = 1

𝑥 − 𝑖𝑛𝑡𝑒𝑟𝑐𝑒𝑝𝑡ᇱ𝑠

Factor!

1             4

Number Line

𝑥 < 1 𝑥 > 4

One Variable Two Variables

(𝑥 + 2)(𝑥 − 2) ≤ 0

𝑥 + 2 = 0
        𝑥 = −2

𝑥 − 2 = 0
        𝑥 = 2

Graphing

−2                2

−2 ≤ 𝑥 ≤ 2

𝑦 > 𝑥 − 2

(0,0)

Zero-Zero Test*

Test Point
(𝑥, 𝑦)
(0,0)

𝑦    𝑥 − 2 
0    0 − 2
0   − 2
0 > −2

𝑦 > 𝑥 − 2

Test Point

Find Equation

𝑦 = 𝑚𝑥 + 𝑏

Correct: Shade the (0,0) side of the line.

𝑦 ≤ 𝑥ଶ − 4

Substitute for 𝑥 and 𝑦.
Incorrect:  Shade the "NOT" (0,0) side of the line.

Test Point (0,0)

(0,0)

Choose a Point on 
either side of the Line

Find Equation

  𝑦 = 𝑎(𝑥 − 𝑝)ଶ + 𝑞
 𝑦 = 𝑎(𝑥 − 0)ଶ − 4
−3 = 𝑎(1 − 0)ଶ − 4
−3 = 1𝑎 − 4
   1 = 𝑎
   𝑦 = 1(𝑥 − 0)ଶ − 4
   𝑦 = 𝑥ଶ − 4

𝑦     𝑥ଶ − 4
0     0ଶ − 4
0 ≤ −4

𝑦 ≤ 𝑥ଶ − 4

Vertex Form
(𝑥, 𝑦)
(0, −4)

Vertex Point(𝑥, 𝑦)
(1, −3)

𝑦 > 𝑥 − 2
0 > 0 − 2
0 > −2

Correct Statement

Incorrect Statement

𝑦 ≤ 𝑥 − 2
 0 ≤ 0 − 2 
0 ≤ −2

𝑦 = 𝑥 − 2   𝑦 =  (𝑥 − 4)(𝑥 − 1)
𝑦 = (𝑥 + 2)(𝑥 − 2)
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